Series ONS/1 Set 2

e 58/1/2

U . gitemeff e &I IW-feaht & q@-
Roll No. .
I8 T 37avd o |

Candidates must write the Code on
the title page of the answer-book.

o HUAT A B A 30 IH-TTH GfEd I8 16 F |

« TH-UF | qTfe 1Y Sl 3T U 70 e TR 1 BT I -fEdeht o J@-I8 W fod |

o FUAT SIS B A 6 3 TH-TTH 30 T ¢ |

« HUAT YA HT I TTEHAT J[& H | UgeA, T 1 ShATeh HAA9 o7 |

* 38 - Hl Ued o forw 15 fiFe 1 om feon wmn @ | wwe-uw @ foa gt §
10.15 o<t T SIT@T | 10.15 591 & 10.30 oSt d ST shadd TH-TF Tl Tl 3R 30
39 o S o I -Gf&TeRT W hiE 3T AL fora |

* Please check that this question paper contains 16 printed pages.
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» Please check that this question paper contains 30 questions.
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* 15 minutes time has been allotted to read this question paper. The question paper
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read the question paper only and will not write any answer on the answer-book
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Instructions :

1. All questions in both the sections are compulsory.

2. Marks for questions are indicated against each question.

3. Question No. 1-5 and 16-20 are very short answer questions
carrying 1 mark each. They are required to be answered in
one sentence.

4. Question No. 6-8 and 21-23 are short answer questions
carrying 3 marks each. Answers to them should not normally
exceed 60 words each.
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5. Question No. 9-11 and 24-26 are also short answer
questions carrying 4 marks each. Answers to them should not

normally exceed 70 words each.

6. Question No. 12-15 and 27-30 are long answer questions
carrying 6 marks each. Answers to them should not normally

exceed 100 words each.
7. Answer should be brief and to the point and the above word
limit be adhered to as far as possible.
e A
SECTION A

1. U& BH o 3G i hiHd 3R A7 o s faoda gey gan @ : (T
e ) !
(a) had THIYUHR H
(b) hact TehTTerehTieh Tfcfiar |
(c) THIIRR TR wehTTerehTieh WfcRNfaT at &
(d) <haa qui Sfira 5

There is inverse relation between price and demand for the product

of a firm under : (choose the correct alternative)

(a) Monopoly only

(b) Monopolistic competition only

(¢) Both under monopoly and monopolistic competition

(d) Perfect competition only
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2. ‘TR THeR ToRINAT § : (W Tohed g
(a) chad QUi TfcTfran
(b) I UT SAHTIIHR
(c) (a) 3R (b) &
(d) I H s T

‘Homogenous products’ is a characteristic of : (choose the correct

alternative)

(a) Perfect competition only
(b) Perfect oligopoly only
(c) Both (a) and (b)

(d) None of the above

3. AH olifee o Tk a%q i eI shiEAl S W g g
(3t feR & @ st Tedt 71 U fedrfa & wfimia enfed @ (v fosken
qf0)

(a) 3Tad TENfd & 31feres Bt
(b) e wEmfed & waH B
(c) 3fad genfed & s gl
(d) = T er
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Suppose total revenue is rising at a constant rate as more and more
units of a commodity are sold, marginal revenue would be :

(choose the correct alternative)

(a) Greater than average revenue
(b) Equal to average revenue

(c) Less than average revenue
(d) Rising

4.  oMYfd ¥ g Fa A 7 1

When does ‘increase’ in supply take place ?

5. S« 3N9d ard fOr 8 @ HiHid dr 3 3iEd ard § a1 gey
BT e? 1

What is the relation between marginal cost and average cost when

average cost is constant ?

6. 3Afrehan shima HHT [Haftor s 87 9eh uftony ewgmsu?

HAAT

If¢ SIS SIHd e ShiAd § FH T a1 39 R0 B aTel TTEl h
TG HHHATET| 3
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What is maximum price ceiling ? Explain its implications.

Or

Explain the chain effects, if the prevailing market price is below
the equilibrium price.

7. U JUNIHI hadl & aegeli X 3R Y 1 3u9I &l g Ifg X 3R Y
=61 WA ST SHM: 4 S S5 B SR X h hiAd S5 & Fid 3013 3N
Y & 4 %, Ui 3oRTS 7Y, A T JuIeRdT Tger § 87 IHeht A7 ufefsma
1 B HHEATST |

A consumer consumes only two goods X and Y. If marginal
utilities of X and Y are 4 and 5 respectively, and if price of X is
Rs. 5 per unit and that of Y is Rs. 4 per unit, is the consumer in
equilibrium? What will be further reaction of the consumer?

Explain.

8. @ &gl X MR Y il FHa-uiT o FHI: —2 IR -3 7| TH I
TopEreh! S -ui o @Aferen & o =i ?

Price elasticity of demand of good X is —2 and of good Y is —3.

Which of the two goods is more price elastic and why ?

9. T %] I hHd Ifd A 2 B| Tk IIGeh 20 &. T T3 I hiAd

T 100 FhTS I MY RLar & | Ford hma W a8 80 Fohtg ol 3T
T ?
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Price elasticity of supply of a good is 2. A producer supplies 100
units of a good at a price of Rs. 20 per unit. At what price will he

supply 80 units.

10. 37§ UREcH o ST Teh &g oh! AT W U dTel THTE THETET | 4

Explain the effects of change in income on demand for a good.

11. 3cUET o hl gRTT 21fSTT | 3TcuehTelid 3T benTell9 3cTed %etdl

& st 92 STy
YT
NI <hl TATST SifSre| 3m=re 3R ufterdt SrTal o s Wi shifsie| T
1 h-Teh ISTELT 3119 | 4

Define production function. Distinguish between short run and long

run production functions.

Or

Define cost. Distinguish between fixed and variable costs. Give one

example of each.

12. T 9O it SR # Feferiad o aiom 993 6

(a) ShaT3Ti shi TSt T

(b) AT sl JaTT AR erret Y Tardsrar
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SR

Teh NIRRT IR # fefafad o aftomg awzmsu -
(a) AT shl TR fsfTan
(b) TR-shma gfefirar

Explain the implications of the following in a perfectly

competitive market :

(a) Large number of buyers

(b) Freedom of entry and exit to firms
OR

Explain the implications of the following in an oligopoly

market :

(a) Inter-dependence between firms

(b) Non-price competition
13. “‘Hgfd 9En # ufEdd’ SR Cmgfd | iEadd o offe ST aWes
Tt 1 T i

Explain the distinction betwen “change in quantity supplied” and

“change in supply”. Use diagram.

e : haet e wfera uferiat o forg wem vt 13 W T W)

“ammafd AEn § aieds’ et ‘ermgfd § ufeda’ 3 s oia THEmsu)
GIREICARRETISI
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Note : For blind candidates in lieu of Q. No. 13.

Explain the distinction between ‘“change in quantity supplied” and

“change in supply”. Use schedule.

14. TARME g5 foweiyor § Iusierar Gge i I1d gHesy| 6

Explain the conditions of consumer’s equilibrium using

indifference curve analysis.

15. 9% "M & foh i3 ot gamem a+t aeqati o Icamed § Tk 99 38 3
TIdT, 39 gk o1 ATH a1y, St srefegeree shl Icared &wdl ! fewrdn B
ST AT TC 3! ForvaTd s7arse | 6
Assuming that no resource is equally efficient in production of all

goods, name the curve which shows production potential of the

economy. Explain, giving reasons, its properties.

G A
SECTION B

16. 1= Tl fafma et w fsft foexft faffma S o7 +veama 2
(52 forehed gfw) |
() -
(b) el -
(c) THad AH-a
(d) TUTIISH g -
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Foreign exchange transactions dependent on other foreign

exchange transactions are called : (choose the correct alternative)
(a) Current account transactions

(b) Capital account transactions

(c) Autonomous transactions

(d) Accommodating transaction

17. TSTRIY 1T S T0H BT 2« (T foshed fw)

(a) SIS YA

(b) =W

(c) A YIAH =T 0T
(d) T 92T SIS T

Fiscal deficit equals : (choose the correct alternative)

(a) Interest payments
(b) Borrowings
(c) Interest payments less borrowings

(d) Borrowings less interest payments

18. 3T YSiTa Uit o eagr & STy e 2 : (W foehed giw)
(a) Shact T forEmd
(b) had TR STT=
(c) T forems it SrefyTe SToerer
(d) HIA IR ST
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Depreciation of fixed capital assets refers to : (choose the correct

alternative)

(a) Normal wear and tear
(b) Foreseen obsolescence
(¢) Normal wear and tear and foreseen obsolescence

(d) Unforeseen obsolescence

19. R S5 § T Tt @ o 3119 27 1

What are revenue receipts in a government budget ?

20. ik hi i iU 1

Define stocks.

21. uwH it digfa 3udm wafw 0.8 31 faw # feadt gfg i
IMEYIhal Ut aifeh TE 1™ T 2000 FUg & Il Ifg & FHh?
qieherd hifeTe | 3

Suppose marginal propensity to consume is 0.8. How much

increase in investment is required to increase national income by
Rs. 2000 crore ? Calculate.
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22,

SR shimd W faa qe gig 3 hifem

(1)
(i1)
(iii)
(iv)
v)

5 TN o SfiaH I shi FRR STTa aEqu
FHeal AT

forshi

o

i | faa

T T A

Find net value added at market price :

(1)
(i)
(iii)
(iv)
(v)

Fixed capital good with a life span of 5 years
Raw materials

Sales

Net change in stock

Taxes on production

(g %.)

15

25

(52

(Rs. lacs)
15
6
25

(-2

23. mid 39T Sghi IR 3TEd IUN Ygfa § 9] FifNT| T difesh

58/1/2

3eTetu i)

HAYAT

SATEHIT ol S A H HULH sl fHehT TR

propensity to consume. Give a numerical example.

12

Distinguish between marginal propensity to consume and average



24.

25.

26.

Or

Explain the role of taxation in reducing excess demand.

TOTET “Seh U 0T G W 01 T H Y TR et 87

Explain how ‘bank rate’ is helpful in controlling credit creation?

AW ST o = AR ARET B % T TR T i)
2| 3T Hohdl T 3cUTE 3T FHeA0T W B It TTet 1 fergerwor
shifsu|

Government incurs expenditure to popularize yoga among the
masses. Analyse its impact on gross domestic product and welfare

of the people.

51 1 U g9 i awensy| a%g At % FRer 3o werea
THET 368 o LTS ¢

HAYAT

ST &1 T I hlE. B HSTS| a%g faHmT o R0 3 dafed
T 3HH S 7

Explain the ‘store of value’ function of money. How has it solved

the related problem created by barter ?

Or

Explain the ‘unit of account’ function of money. How has it solved

the related problem created by barter ?
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27.

58/1/2

Tk AT W I =i 3ame’ SR Sfodes 3T 1d it

(1)
(i1)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(%)
(xi)

foRtran

forasti =1 fHae =iTe] S&araT
T R0 TS

fom =
SHHTIET o AT

TR g Te] T

SIS
stfoafa oy

o

farcett =l et ek 3T T
HTHR i B el AT

(FSE.)
200

10
60
100
900
150
400
50
250
(5)10
120

Find net domestic product at factor cost and personal income :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(vii)
(ix)
(x)
(xi)

Rent

Net current transfers to abroad
National debt interest

Corporate tax

Compensation of employees
Current transfers by government
Interest

Undistributed profits

Dividend

Net factor income to abroad

Income accruing to government
14

(Rs. crores)

200
10

60
100
900
150
400
50
250
(-) 10
120



28. (a) YTAH G W@ & fhE IUcrEl § TR fohd & T 9 | foran
o1 Tt frareT st fopa e ? R S

(b) a4 faeh e &1 fafwe 5t o @ e w2 ¢ amEe | 3,3

(@) In which sub-account and on which side of balance of
payments account will foreign investments in India be

recorded ? Give reasons.

(b) What will be the effect of foreign investments in India on

exchange rate ? Explain.

29. I Ik ¥ S=Id gk ATH ShIfGC TR 39 Ufsham # fu S It =/
FATSY | TG Rl T hIFSU| 6

Given consumption curve, derive saving curve and state the steps

taken in the process of derivation. Use diagram.

e : hae gieE foemfela o fore wea dwan 29 & wom Wy

IYNT A o T2k YHEATSU | IUHNT HeAd 9 S=d hadd UTH hifSg|

Note : For Blind Candidates in lieu of Q. No. 29.

Explain the components of consumption function. Derive saving

function from consumption function.
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30. TIHT 51 T 7 HHSTST o 3T 3Tfeieh H-IaT ohl TS o forawor
T YT ST oh 7T h8 T foha ST HehdT =1

AT

LRI IS1e | TSI TTfed & =7 YT § | THSST foh TLhR] SISie oA
stefeeE § Shigd fordaT I 8§ fore Terr s foran T gehrdr 2|

What is government budget ? Explain how taxes and subsidies can

be used to influence allocation of resources.

Or

Define revenue receipts in a government budget. Explain how
government budget can be used to bring in price stability in the

economy.
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